Test
         Term 2                                            Module 6				Var. 0
I. Translate into Russian:
1. Under certain conditions the components of liquid mixtures would immediately separate due to the difference of density.
2. One should understand that to make supercomputers we need highly developed electronics and new-generation materials.
3. According to the latest estimates the industrial production of various materials with useful properties is to begin on board the space stations within a few coming years.
4. Prolonged weightlessness cannot be created on the Earth; it is possible only on board space vehicles.
2 points
II.  Choose the correct modal verb:
1. A historian (is to, has to, ought to) study a lot of various facts to be able to reconstruct the far past.
2. We (must, were to, had to) stay at home because of rain.
3. He (had to, would, was allowed to) spend hours in the library before exams.
4. He (must, have to, is to) take his exams in June.
2 points

III. Make up questions to the sentences:
1. Biochemists have to deal with the worst aspects of convection.
What………….with?
2. The students were allowed to continue their research in a new lab.
Where………..?
											2 points
IV. Translate into English:
1. Движение газов вызывается разностью температур.
2. Производство сверхчистых материалов на земле затруднено из-за конвекции.
3. Он не знал, будет ли он работать над этим проектом. 
3 points

V. Translate into English:
различная плотность
обладать ценными свойствами
создавать определенные условия
получать новые виды сплавов
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